R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18)\C - Drawings\Current\TX-4224-25.dwg, TX-4224

¥ Endura

PERFORMANCE STANDARD

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Flip Lever)
Astragal details (Ultimate Multi-point)
Astragal details (Ultimate Hurricane)
Door panel details (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

O[I[N|osc|n|mh|w N

73.94" MAX. FRAME WIDTH

81.69" MAX. O.A. FRAME
HEIGHT (INSWING)

80.88" MAX. O.A.
FRAME HEIGHT (OUTSWING)

XX

AN\
'{‘3‘\" ’ — §1u~lz

INSWING

OUTSWING

W,

0N

=

53 4

ES 8 b

s B Z

wu S O

a2 £ W5

b .do

c |.|..__|

§3 Eo® 3

2 <23 o

S FTWHn =

B Jgo 0
2>, 0

LU

[ I
Zou)O

5 8Q. &

(i) § o
0 xzZ

o 0 L
z

o Zm, O

&8 2450

[ :)o..cg

X Do g

- ;_'E i)

bk

c

o

PR 6

3 =

<}

fa)

CERTIFICATE OF REGISTRATION # F—11852

o
Z =
a2
%)
i
&
5=
<
o2 =L
I EEN
=z Eos
Ly L"'U')
Y
.. =
o oS3
S S5
) L
o oz
x o
o
nln U)>_
e ]| e

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

9/27/18 |UPDATE FOR NEW TESTING
11/01/16|ADDED THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

NO. DATE

2
1

<™

REVISIONS

DATE: 8/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4224

SHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



"ON| BANVLINENGQO aNIang "m'™8 2102 @

fa

Upper Bolt Sleeve - Aluminum

N oo R s ——

& S
i)

Aluminum Body

D

T —" T e w— v\

WL e . S —————A i .

DRy e

N

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

53N FNRE o e, (337 dns An) 7 — IV Ton
STVL3A IVOVHLSY o~ dln] < 8_
L6L6°6SR'EL8 ©ON UOUd . S41 TS ONLYINJLLYY a30av| +1/60/1 | | N2 <l &
S6SEE 14 O9MIDA 0£Z Xo8 ‘O'd \Sug ATBWISSY §0_18vd ['S37]39n1dv0 Nid_Tvovellsy MaN_aavisi/so/s | 2 |S(| 7], o | 8
“ONI *SINVIINSNOD ONIGING S41 SAIOHS3gHL a3aaviei/to/ii] € || < 2 | 2~
S41 ONLS3L M3N 404 3ivadn|gl/cz/6| v || |& &g &
£ZL¥OL# ‘T'd SVXAL vanansd Wldlel |2 | B
“3'd PIUYOS ‘d Uopukl  :Ag pedpdesd sjuswinsog 1onaosd W m z W m M
¢
w«x
«w WOLLOg &
-9 )
g Lainnos 3 NOGNALS | ™
VR Y
m?ﬂ. }\&,w? Y
nmmeﬂmw\%\.mI...I...\..W,./wfw(\q Iw
182 3 ool = «
gy m)mx);ﬁr&( 8
d
I e
. ..n. % Twl Lo} [ :wN._. _
o = 1538 ] |
3 o 9 5
88 k | %
2 o &
= ~t lmw
S & - _ O
tn x «Q O
B 2 N S m
2 S
3 | B
< /
Q
Q
i
[ L. .
N m WG9
[ %]
[+’
(@]
X
8]
Zz
<
i
N
w i
~ v
W
[
5 3 5
S (2]
FToTR = & 8 2
dOl s B O ®
5 O =z S
2 2 T <
o Q ic o~
< O & D
= O ™ 0
o = = #
o ] -
5 £ X =
2 2 9 //
g 8 =
= - [
gz =
<L >
W %) m- feol]
ot 2 )
8 3 EANS
Laved (el
-~ Q0 L ‘ -
=3¢ p e ————
® 5 , § F——
= Q , ¥ T\ \
| Q
29)
>
(]
N
~0
e
el )

2-1 BmMp'Sg-prep-XL\wuaund\sbuimeld - D\ST-T-TT 'dx3) (¥199 QI GNS) 0€9 - IAL\SUI 40 3daq sexa - S\ININVINYI eNPUI\SIUBID\Y




CONI SBANVLINSNGG aNIaTng ‘m's 2102 @

ZSBLi—4 # NOLVMISIOFN 40 ILVOLILLNIO _ SNOISIAJY i
SHIINIONT TYNOISSZJONd 40 QuVOB SvxaL Qz%&ﬁmﬂ:ﬁ%«%ﬁﬁﬁe Ad v _[ONfo| | |, 8_
L616°659°CLg ON SuoUd S41 TIS_ONUYINOILYY 030av| »1/60/1 | L |45 |n| &
SBEEE "4 OOWIDA OFZ Xog ‘O'd \h\w ANBW3SSV ¥O I¥vd | SJ7138NIdv0 Nid Tvovallsv MIN aav| 51/g0/s [ 2 | S Ly 8
‘ONI “SINVLINSNOD ONIgIng @. , S SATI0HSIYHL a3aavieL/Lo/LL] € ﬂ . g 3~
. S ONUSIL M3IN 04 3uvadni gL/cz/61 v | ™ ElEle X
SZiIvOLF ‘3'd SwXAL viNONI gl121¢|¢|3 8
‘T'd PIUYOS ‘4 UOPUKY  iAg pesddeud suswnoog 110NA0dd S{8181518 &
WOLLO8 t
~
£
©
3 p
o4
il
- -
. e L
i m & 23 J 8/'1 _
R - < m ; ~
(2] .u.D 1 -
o ¢ o ==
I 2 « 9
o o - [®)
0 & s O
) 2 , < 2 E
) ;1 — 7
3 O ~ 2 <
o M _n- oS
9] ol
(o) | _
= o
R 3Z 3| A
~N o .
~ O :WQN
v
(274
O
pot o
Q
z
<
in
™~
~
£ !
4 u
—
@
o o
g 2 2 Z
~N f1R]
! o Q
— C v
dOL s 2 2 s
3z o) T
2 ¢ g
m A = =
8 & 2
20z 2
5 = S =
@ .... L]
e g i N
z o =
2 5 = S
g - S
v Q2 =
g 4 S g
s @ =
NS o
=0 g ‘
1..% i
MW T £ —d
3 T Q LLE A
~N i < &
Na = m\pu G
J o o
e N
> an - —
& @ £ )
b ©
T T bt 2 <
oy - c
. —| & 9 .m m
/i = s o T T3
f o9 'y o ;
fy |, W\ W ) Z S ¢ g
...., LY = Ay Y i O ;
Y7 X T\ 2 R0} —L
g c g 2 9
< < S © 2
' (0] 5 0 0 LLl
[0 [+%4 \m o wd M
> P 0® E
2 9 <g = =
- g 57 £ =
] - B = —
] [} — < -
5 o
o =
5 — ' e

€-1 'BMp'SZ-pzzy-XL\uaund\sBumesa - D\QT-T-TT 'dx3) (4199 A1 ANS) 0£9 - IAL\SU J0 3d3Q sexa) - ALNINVNYIJ BINPUIASIUSID\Y



CON] SINVLINSENDD BNIGHNE MM 2108 (@)

ZS8LL—d4 # NOLWVNISIORY 40 IUVOLILNIO SNOISIATY .
SYIANIONT TYNOISS3408d 40 Quvos Svxal Gm«@%mmm:ﬂ&&«ﬁmma Ag 31va [ONJ | . 0wl < 8_
LBLE'6S9°CL8 FON Suoug S41 TUS ONUYINOLLYY a3dav| +1/60/1 | | N x Ol oS,
GBGES 14 OOMIDA 0§Z Xog .o.m\th ATEN3SSY 8O Lavd | sS4 | 3MNIdYD NId TvOVHISY MIN aav| 61/50/S | ¢ m m " Q o
*ONI ‘SINVLINSNOD ONIaHNG @ S41 SAIOHS3¥HL 030avigL/Lo/Lt] € |\ . g 4_
S41 ONILS3L MIN Y04 Fivadni 8L/12/6] + | ™ BlElg &
SZTLYOL#F "I'd SvxXaL YHNAN4 a m o|x|Z &
"A'd WPHUYDS 4 uopuky iAg pespdeld sjuswinooQg 113Na0ud |32 515 x
=
<
. o]
J£08°9 o
i
| S8E & 3
]
I T ] S
E—— H
<
WOLLOd
o =
D 3
Nw
%ﬁ" A , ,
(A N]
4
oo » v
° T 5 L
s - 2
3 2 5
= Iz o
= -l
« i 8= <3 %
L]
: S
3 S
= a
Q
h : m
in 2 Q
™ . ) po
- x
8 =
S O <
[7¢]
P 2 g
¥ )
W ) =<
> oo]
2 5 g =
Z
@) <
—
< | <
Q) K2 Olo
Q T 23
z B 52
L .—nku < :Nmu.o - =
% & v = o ll_ 3 m
« 3 - &
o I - &
<Hlle = 1 z|5
o 2 o - <|Z
| = o Ols IHl5
5 =< it = 8 =l
w o % - =& C mm g
m % < <
2 3 8= 050 —— 2
o (7o)
. =
I.O ﬁ | e
i —
N o <
oo ™
23 M
) =
! g 2
2 5 - 59T |‘.~ 0
= < | -
ol 5 L, 5
i £ L R B
o M - o
1 L £ x
} 2 [z
: : z
2R £ 8 < <
o @ AN z = s
< =
vV el 5
oW -
— B3 Q
dOl & &

-1 'BMp SZ-Yezy-x L wuaund\sBuimelq - D\BT-1-1T 'dx3) (¥199 A1 GNS) 09 - IIL\SUI J0 1dag] sexa] - G\LNINVINYId BINPUI\SIUaLD\Y



79" MAX. DOOR

uj
1.75" o8
-—n~]" 3" <—]"——-—- 5:3 &N
- INTERIOR ‘_4 TOP RAIL BB i
————— 1 * wooD) g eogh 8l
T 2 = ;L2
X = CHH ~ gF 2§ 99
Z g eeegeCeoeses n ceteled 2 dge Bk
% E ...Q.OQQ.OQ..:Q:Q ‘ 2oa ki
i & 8< 3 oER
EXTERIOR \ T £3% by
5 g%t .
LATCH STILE 12" LONG H!N((E\[;LS)TILE g 5 g g gg
(LVL) LOCK BLOCK s X oE
WOOD 5 E
WooD) P R 5
1"\ HORIZONTAL CROSS SECTION 2
STEEL SKIN 8
5/ ‘ ‘ (0.02" MIN.)

)
n=
=N
=<
)

<C Ql-
35.75" MAX. S |y s
PANEL WIDTH S
1 9 =5
21.0" MAX — INTERIOR EXTERIOR = S
D.L.O. WIDTH | — _\ EXTERIOR g 8| °%
A\} o o <
5 #6X 1-1/2" PH SMS - -
olelelehs
b S| ] d
GLASS BITE 7/16" "
INTERIOR g 5
———1/2" NOMINAL GLASS THK. ol |E
> o |
R / { |, ~—1/8 TEMPERED GLASS } 5B |,
_— 3 ~_— AR SPACE “lalzlg 3
O < Q 1 = I JGIE |=
o =¥ i 5 N ~~—1/8" TEMPERED GLASS YRS £
—d o w2 o
1} ; O || 9|0
< o STEEL SPACER NEEES
FOAM CORE SRR
EXTERIOR Q'SO SEALANT ' '(POLYSTYRENE) 2lslgle
D=
LOW TACK SEALANT f N
BOTTOM RAIL _/_n ]'L - NERE
C) GLAIZING DETAIL NS
Lip Lite Insert Glazing (STEEL) * I 335 e
4 sl (ZD
oATE: 8/20/12
JELD-WEN ScAE:  N.T.S.
Insert Glazed Pa— 0K
(steel) 2"\ VERTICAL CROSS SECTION o
5 CHK. BY: LFS
DRAWING NO.:
TX—4224
SHEET 5 oF _8

RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18\C - Drawings\Current\TX-4224-25.dwg, 1-5

@ 2012 R.W. BUILDING CONSULTANTS INC. .



) i
ARG R
{ é > gfv"””ﬁ*ﬂ P 1;:}2 % gg 0
g et e Yo o
— ] S 2X FRAMING A T, NEx § b8
b (G >=0.42) s ey V8w ¢ B~
i A1 2N Si818 IN[ee 208 Bl
/ / i s E )i et g
, e %t iz i9 3 @
Va / EXT. SHEATHING —_ [ 1] | e W i
’ / 4 . : ; - E e, = g - ,‘2
’ \ / ' . Ui Z rrSs 2o i
Y Vyirmmianns™ @ o= £
1 o L— #10X 2.5" PFH e \ g 952 ,C
2\ 1 -1 WOoOD SCREW N|E Ede oy
6 ||~ 1/4" MAX i a8 § 598 gp
* oo
A~ x S x smisrace . S . S
< O. 4
NOVAIN S5E PR
3
o
T~ DEADBOLT: KWIKSET SIGNATURE SERIES f a
: . DOOR PANEL / ‘ ,
/ / (980/985) ‘\
, ) | !
/// y // '~ LATCH: KWIKSET SIGNATURE SERIES
/ y (991) HEAD "
ENDURA WEATHERSTRIP _Z
) (QEBD/PE 650) < =5
’ CORNER PADS (TYP.) \4 S |y 8%
) L EXTERIOR INTERIOR z |3 84
o
N 1\ 3 T
O
77 7 /~3\ VERTICAL CROSS SECTION & x
‘ W Outswing shown - inswing = °
also approved o) @
& 5
1/4" MAX. " Al brd Al P
SHIM SPACE . g'S‘"‘ZK K|S
EXT. SHEATHING L
- 7 (TYP.) g
%
O
I S— ULTIMATE FLIP LEVER ASTRAGAL z|3
2X FRAMING A A A 5" PFH WOOD SCREW e %)
(G >=0.42) |/ #10X2.5"PFHWOO ULTIMATE MULTIPOINT ASTRAGAL 81z g 5
\ ULTIMATE HURRICANE ASTRAGAL 21E3 %
dla|o
JAMB ENDURA WEATHERSTRIP SN
9 ENDURA WEATHERSTRIP (QEBD/PE 650] DOOR PANEL =%
(QEBD/PE 650) A / 27|18
EXTERIOR § § §
L N
S, - - AN
v, » Sinjol=
) A Bk
R S P SN N PN Q
=z
; #8X 1" PFH WS ScAE: N.T.S.
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS T
#8 X 3/4" PFH SMS 4"HINGE N ok 8. LFS
2 \ HORIZONTAL CROSS SECTION DRAWING NO.:
/ 1"\ HORIZONTAL CROSS SECTION N, TX—4224
w Inswing shown - OQutswing also approved — .
SHEET 6 oF _8

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18)\C - Drawings\Current\TX-4224-25.dwg, 1-6

© zo12 rRw. BUILDING GONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18)\C - Drawings\Current\TX-4224-25.dwg, 1-7

\\
INTERIOR /X EXTERIOR
DOOR PANEL
L
ENDURA
DOOR SWEEP
A? / (DBK-R)
112)3

(&)

\\
INTERIOR EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
(DBK~ZAC)\< f :
415

ENDURA
WEATHERSTRIP = _ DOOR PANEL

(QEBD/PE 450), =22 EXTERIOR ENDURA "

WEATHERSTRIp,  INTERIOR EXTERIOR| %1%

(QEBD/PE 650) -

MY

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

! 4.56" !
INSWING ADJUSTABLE THRESHOLD
ZAIL4565

s —————»I

INSWING ARTICULATING THRESHOLD

6

IACL4565

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/" 2>\ VERTICAL CROSS SECTION

\7/ Inswing Articulating Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/~3"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR iTW CONCRETE SCREW

/"4 \ VERTICAL CROSS SECTION

\7/ Outswing Bump Threshold

4.56" ,!

. 456" | B
INSWING ADJUSTABLE THRESHOLD 3

INSWING ADJUSTABLE THRESHOLD

2 ZAI4565FN
MAX. DESIGN PRESSURE = +40 PSF

4.56" !
INSWING ARTICULATING THRESHOLD 8

ZAILAA4565

\U Outswing Bump Threshold
A
! =
i — ﬁl {
456° | | 456" |
4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAIAA4565FN ZAI4565RDS

MAX. DESIGN PRESSURE = +40 PSF

7

456" A |

INSWING ARTICULATING THRESHOLD 9

7 IACA4565FN
MAX. DESIGN PRESSURE = 240 PSF

IACLAA4565

INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD

ui
gl
-
o 7
b
EL o 6
£ 2] o
5 L8 z=
Nul Om (DT
c ‘Ef?’. L
Og ’@o"? 3
oW Zeg &3
s [ o] P E
3 459 4
D3, U0
77 B E
Z0m o
3 an . &G
@ O N |
] [
o %52 b
S 5% 26
& 592 gp
& oan 55
5 0
O
o
o
wn
=
o
=
[®]
i
n
<
® A
=2 S
2 &
& S
L
=4
Q
. =
’_.
S &
D >
o
&
o
olelel s
RN | -

4.56" i

IACAAA4565FN ZAC4565RDS

MAX. DESIGN PRESSURE = +40 PSF MAX. DESIGN PRESSURE = +45 PSF

RN

[~ 1.49" —»|

4.56"

] ] )
(= =
% %
- 456" ! » 456" -
17) UISWING THRESHOLD 12) OUISWING THRESHOLD
ZOBLA565 ZOBASG5FN

13 OUTSWING THRESHOLD

4.5¢6" |
14 OUTSWING THRESHOLD

ZOB4565RDS

FOB4566

5/05/15 |ADD _NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:
1/09/14 ADDED ARTICULATING SILL

9/27/18 |UPDATE FOR NEW TESTING
11/01/16|ADDED THRESHOLDS

1

<+

3

N

NO.J DATE

REVISIONS

DATE: 8/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4224

SHEET 7 oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18)\C - Drawings\Current\TX-4224-25.dwg, 1-8

SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

1
]

‘o

TNET

TOP OF

6.75" FROM
DOOR PANEL

-

36.0"

66.25"

HINGE JAMB

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI)
WOOD (G >=0.42)

CONCRETE ANCHOR NOTES:

2X framing {by others)

2"

\ |

(wmjzjr”‘ ¢
T me)
] T ‘rN

DETAIL1

* DETAIL2 OR 3
[ \\ L Ilg I

4'(TYP)

4" (TYP.) -
~— 2"(TYP.)
¢
FRAME ANCHORING
XX

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joinfs.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

rapcoN® | V/ 1-3/ 21/ 3
ELCO - - - ;
utTRACON®|  V/ 1-3/4 ! 8

*NOTE: This additional anchor required for D.P. > 40 PSF.

6" Astragal Strike Plate
*] ~ (TYP) @ Head Jamb
] == ‘\vo\:]‘\ =
a \ Tt
o #10X 2.5" PFH WS
i DETAIL 1
7 #8 X 2-1/2" PFH WS
o L]l #
" " -
#8X 1" PFH wsé:. e #8x 34 PrH ws
- " 4" X 4" HINGE
A\
iE ‘
2= HINGE DETAIL 1
i J
~
~O \
| #8X2-1/2'PFHWS
o LI] # |
#10 X 2.5" PFH WOOD SCREW ) o Lilell |
1/4' X 2-3/4" ELCO OR #B X T"PFHWS él. |, SIF=F= #8 X 3/4" PFH W5
[TW CONCRETE SCREW "~ 4" X 4" HINGE
(TYP @ SILL) \
HINGE DETAIL 2
ASTRAGAL PIN CAPTURE
COMPONENT (UNDER CAP)
1/2" DIA. HOLE 1/2" DIA. HOLE (IN CAP)
\
@ S ® .
NP —— ‘E = - gl
DETAIL 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

uj

2R

Oy 0

Yo 0 x

EL @

I -

hu UM o

Wl 2 NG
L@ o

- D |

52 £.a 3

o (00’ o

§F RHEO =

2 402 @
2 >m
S on

5 om"_D g

a On . £
O Xz

° > 0 L

4 Z=M0g O

2 5-8 o

® Rok %

o o

@

2

C

[ e;

E g

3

0

o

a

CERTIFICATE OF REGISTRATION # F-11852

(@)
=
S
= T
=S O
a =z
= <
L w
3
. x
}-—-
18]
)
Fal
(@)
&
o
e Pl P
puw] o} o | |

5/05/15 |ADD_NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

9/27/18 [UPDATE FOR_NEW_TESTING
11/01/16|ADDED THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

1

<+HMIN

NO! DATE

REVISIONS

oate: 8,/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4224

sHEET 8 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



